KT E R A R

—~, BWHER

KW A 48K %m@iﬁﬁﬁ?mﬂZOZZm’P%Mﬂﬁ&ﬁiﬁ?Hf}é)‘% B el R R R RS (T K)
FRIWiH % %: N5116212022000264

X5 1 &

o A A RKE

b

&

AN

Jus

PR RISk

CHREASAERT SRARE B

L RBEWIN (ERARAR) ORI PRSI B

SRR CRARER) SO BRI S5 R HRRETG
iR g & B0k ITA B

VR R

5ok 2 e o 0 L IS A

AR AT, WA TERRA, W R TRARAT, WIERE AR TR ARA
o SRR A R A PRI A A

x
LA A M&&E&;Eéﬁﬁl%i:

# e
AT #k

5
EL 2V ik

A & o TR

H e E zozz‘mzmom



RIGTH PP R CRAD

—, BHEE
SR 4 F: %m&ﬁrmmﬁmnﬁ*%%ﬂfﬁﬁﬁﬁﬂﬁw%M%“#&&K&&ﬁﬁwﬁﬁmﬁ(m)
KR H %% : N5116212022000264
RS, 1

. AEHE
mmu%mwmmm&ﬁﬁﬁ%ﬁﬂmmmﬁ, FERIMRE A
« R T R A
ﬁaam,zmzuunm+mn$unmm
WA A B

VO 2SR H A A
IR EII: 202247125120 1091 304)

TR F AR

o GTEOUSERG 2 0 SR 3 2 1) FL Ak O A R bl :
AR 5 SO T IO RN, SISO IR A

AN BRICHR SO (1 16 8 7 4
UOFRR IR A SRR L CHICLPHER O

By B 0 SR 4 B
FMETEL A R AT SS BRI CRWTE FFRER )

N RAXHHERTBSR: &

. BERHRBREBRBGARE: &

AR
15

o SR R SO A B A A
= RARK: 1

+ RMERK 30

et R A
HE B e
R P

U RSO B R B
LR, AMMPERELR GER R RRE) )
WA AR, RBEAAERTI0R GEIL (AT ERE) )

A BN I R 4

LR A4 B utf RERHGE)

ERO AT E 966,900.00
PN AR S TR AR sy 968,750.00
R T A RA e i 968,700.00
PN RE AR TRARAT, oo 962,900.00
TR RAVERJE R MR
e s 41 - BB =
wm%ma&ﬁﬁﬁ%“i' W$ﬁ#ﬂﬁﬂﬁﬁmm%$m&&%%&ﬁk%hU$ﬁﬂ

N T
ﬁﬂﬁfﬁ%ﬁa4%y*ﬁﬂﬁhﬁmwﬁnﬁ(ﬁb(%wmﬁﬁmﬁﬁﬁﬁ&»)
+A A UCBUR SR % 3h R 75 T B 4 1k

+n‘ﬁ$ i SR A AR i R
AT i LA 0 LG L EEBIH AR LBRL DL E SRSV B, BN
CeE e
PHNARS S TSR AE, RIGROINIR L, 917775 RRIER & B RS B 1 00 RS PB4 e
755, SRIRUOR TR IR AT MR I R, WA RS R DRI ) 05275 44 )

2



BERBNGE o BebR AR gl BFR G GE)
1 WA RN AR LRI 962900.00
2 R IR A 966900.00
5 DU i TR A E 968700.00

S RERMRESE .
e LRI R, ST
:13::\ Sl 75 599 R 7
WML

il R 2022-12-20 13:34:09



%%ﬁﬁﬁ%ﬁﬁﬁ%’

=. BiHfER a ¥
%%ﬁﬁzﬁ:Mm%ﬁﬁﬁmWmu@*k%&ﬁ&&ﬂgﬂ%%%%ﬁ%ﬁﬂﬁ@&mﬁ%m&ﬁﬁm:m
KB HSS: N5116212022000264
K. 1 .

T BRI ARKE

VLT CulA bR SO

EnOBEWR ERBHR) MR R

SEATWR, CHAR) SRR IS R SRR
~ 3k T R A A R 4

LRAFREAMAR, WIBCEGTEARAT, WIERE TR AR, PR AR TRA R A
o SR B A R . 3 oS

PUNER B A ]
~ IR A 41 R T A B R

=

B

>k

A
- RUCRMTES R AL AL

&

LU ZR TRV E =

oy

B 20224212200



